Which one shows 3 balls?
Make an X in the box.

Which one shows 2 shoes?
Make an X in the box.

Make an X in the box.
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Which one has 1 more?
Make an X in the box.
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Which one has 1 more?
Make an Xhin ’rhepox.

S -

S - - S - S -

-

Scaa=- Scam=- Scam=- Secaa=-—

Which one has 1 more?
ak an X i ’rh b.
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Which one has 1 more?
Make an X in the box.
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Which one has 1 more?
Make an X in the box.
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Which one has 1 more?
Make an X in the box.
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Which one has 1 less?
Make an X in the box.

Which one has 1 less?
Make an X in the box.

Which one has 1 less?
Make an X in the box.



Which one has 1 less?
Make an X in the box.
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Which one has 1 less?
Make an X in the box.
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Which one has 1 less?
Make an X in the box.
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